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Secﬁon 15 marks) Start a new sheet of writing paper Marks
1. Solve the equation7* =10, correct to 3 significant figures.
2
2. For ¥* +x* -1 =0
(i) Show that a root exists between x = 0.7 and x=0.8.
(i) Use one application of halving the interval to find a shorfer
interval that contains the root. 3
3. Differentiate logs(7—4x).
2
4. Use the substitution % = 4—x to find jx\/4—x2 dx.
3
5.  The equation ¢* —4x~8 = 0has aroot close to x=3. Find an
approximation for the root by using Newton’s method once
and starting with an approximation of x =3. Give your answer
corzect to 4 decimal places. B
6. Find the value of In e , given that Ina=0.862and Inb=0.42.
Give your answer correct to two decimal places. n
End of Section 1
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Section 2 (15 marks) Start a new sheet of writing paper

Marks

1. Determine the following integrals.

!
x+1 5
(l)fx2+2x—5 (&) L 2x

/4

2. Use the substitution x =1 —1* to find I;xxll—x dx. m>0)

/4

3. For the function y =2+log, (x+1)

()] Draw a peat sketch of the fimetion, clearly showing the
y intercept and the vertical asymptote.

(i)  Determine the area bound by the curve, the y-axis,
and the lines y = 0 and y = 3. Give your answer correct to
two decimal places.

14

. d Inx
4. (i) Show that L—ﬁ—(\/;lnx) =7J—;+

&~

(ii) Hence, or otherwise, determine J—h—lf dx .
Jx

/3

End of Section 2
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